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In a recent, e»x(c::emeiy inf luential article McCl.o:ske%y challenged
central temets of the conventional wisdom concerning the British economy
of the late nine;eenth eentuiy, 'ﬁé argued that significantly higher
inecome 8§0Wth'éduld not be ébtﬁinéd via a higher domestic investment ratél/
and that grewth was constrained By inelasticities on the supply slde,Z/
Instead of seeing the period as one of entrepreneurial failure he painted
"a picture of an economy mot stagmating but growing as rapidly as permitted
by the growth of :,t;s resources and the effective exploitation of the

3/
available technelogy".

These views were later criticised by Kennedy who concluded "not
that Bn.tish resources were 1ncapa2b1e of sustaining more rapid growth, but
rather zhat resources were not deployed to exp161t opportunities which did

'emst ._/._ ~ Kennedy re-a.chad his conclusion by m-amtamlng that McCloskey's
one sector neoelassical growth model was too aggregative and that this

. misspecifieation had led to a comparison of the actual Historical record

with an inappropriate counterfactual situation.

This short article maintains that ﬁcCloskey'-s re-interpretation
ef t;::h.e-‘ lgﬁe nineteenth cgntuﬁ- should be rejected even on the basis of
McCloskey's own model. Ueing this model it is shown in section I that the
economy waa growing at less than the steady state 'réte of growth., If
the economy had been on the steady state path and maintained also the modest
rate of productivity growth achieved between 1830 and 18‘60 until World. War I,
then output per head im 1911 would have been 24 per cemt higher. 1In
section II 11: is shown that a higher domestic investment rate, entailing a
higher capital to labour ratio, would have permitted a large increase in
comsumption per head. An investment rate similar to that of Germany would
have given a 26 p;r cent increase in consumption per head in 1911. Maintain-
ing p-ro.d-uc;ivity'- growth ‘and investing at the German rate would have permitted

a 37 per cent rise in consumption per head in 1911.



The basic data-nccescary to an appraisal of McCloskey's arguments
is set out in Table 1. The figures there are based on Feinstein whose work
was not avallable vhen McCloskey wrote his original article but has
subsequently been accepted by him as author1tat1ve.5/ Perhaps the: oaln
difference to be noted is that growth of net domestic output for 1872 to
1911 is put at only 1.73 per cent per year. as opposed to-McQIOskey's

| 8/
estimate of 2.40 per cent (for 1872 to 1907).

TABLE 1  Output, Capital and Growth, 1872-1911%
Kb 4 ¥© .ud pre

1872 3227 1013 3.19 3.02
1882 3684 1206  3.05  2.90 1.34  0.75 1.77
1892 3969 1387 2.8 2.71 0.76 1.03 1.41
2
2

ak/k aL/Lf  avsy

1902 4901 1781 .75 2.62 2.13 1.12 2.53
1911 5565 1973 .82 2.67 1.28 0.90 1.03
1872-1911 1.41 0.95 1,73

a. The first four columns are all five year averages centred on the
year specified. The last three columns, rows 2-5 represent
average annual growth rates for the previous decade derived from
the five year -averages. All data are derived from C.H. Felnsteln,
National I dig d £ the
1855-1965 (Cambrldge, 1972).

b. Net Cap1ta1 Stock at Constant Replacement Cost plus stocks and
- work in progress. Feinstein, ‘Table 43 and by the formula in
Table 49. :

(25 Net Domestic Product at 1900 factor cost, Felnste1n Table 5,
col.12-col.1l4%.

d. Net Capital to Net Output Ratio, K/Y.

e. Net Capital to Gross Output Ratio, K/Gross Domestic Product,
Gross Domestic Product from Feinstein, Table 5, col.12.

£. Derived from Feinstein, Table 57 col 5)E AL/L is the rate of growth
of the labour force. :



McCloskey used a neoclassical ome sector growth medel in which
the pre&u@fion' function was CobB*Dbugias,

.Y D Aet’ﬁ K“ ]_,.6' ' Lo o o ()
The sources of ecomombe growth could be -decomposed thus:.
CAY/Y = a8K/K + BAL/L + (2)

where o is the share of -ﬁf&f’itﬁ-in'ﬂaﬁim_al incode, B is ,.tihe...shar.é of
-labour and .r‘. ‘(ﬁhé y-e:-sildugl,_‘) is ﬁhe. rate of A,gr-owt:h' of oﬁtp'us_t:'perl unit of
total iﬁéﬁEQ' .éiVéﬁ.tha iﬁﬁafmaiian in Table~1,and.£he (constant) values
- of '@ ‘aa& B - values for r canAbe dbtained'by substitution into eqn.(2).
The results are shown m 'fgble 2 fbr a = 0.4 'and B = 0.6 t’hésg values
are those used by Hacthewsl/ and}re;7nt1y approved by Mtcioskev;gjalthough

not those used in his 1970 artiecle.”

TABLE 2  Values of the Residual (per cent per year)

18721882 ¢ 0.8  1%02-1911 :
- 1892-1992 : 0.5  1872-1911

X-5

Sourcet = See text



Touegtgblish his argument that ‘the econom§<was43rowing‘as fast as
it could McCloskey relied first of all on the:properfy of the neoclassical
model that the rate of growth is in the steady state indepeqdent of the
investment rate, sincé changes in the capital to output ratio offset
changes in the investment rate. 'Kennedy suggested much faster gfthh was
p0331b1e by rejecting - thls aspect of the model and by adoptlng a very high

1o/
value of the residual of 1,2 per cent.

ﬁowever, McCloskey's conclusions can be criticised without resort
to such tactics. The first poinf to note is that in the steady state theA
neoclassical model has capital and 6utput growing at the same rate. Late
nineteenth century Britain had capltal growing more slowly than output;
rather than being in the steady state, Brltaln would ‘be more accurately
described as in a transition~between“steady states. The 1870's and 1880's
saw d lower investment rate than earlier.or fater in the-dentﬁry.ll/ The
transition process_of'adjustment would be expected to show slewer growth
and a declining capital to output ratio; this is indeed what happened. At
the same time apparently exactly the reverse was happening in the United

12/
States.

It is straightforward to calculate the neoclassical steady state
rate of growth based on the average growth rates of inputs and the residual
for 1872-1911. Using the condition that capital and outpﬁt would be

growing at the same rate, substitution in eqn. (2) gives:

AY/Y(ss) = a.AY/Y(ss) + B.AL/L +  ' (3)



. which can be rearrenged as:

AY/¥(s8) = )

Fox 18—7241&11 the steady state rate of growth works out at 1.95 per cent
per year, as oppesed to the 1.73 per cent actually achieved. If the
original net cagita,l fo eutput ratio of 3.19 had been maintained a domestic

13/
net investment rate eof 6.22 per cemt would have been required - not large,

but mych bigger tham was achieved im the 1870's and 1880'3.14/ ‘Had the
economy achieved the sea'ady atate rate of grcwth by 1911 domestic output
would have ﬁeeﬁ ghout 9 per cent higher than it was. This avoidable loss
could be compared with Hawke "é calculation that the non-existence of the
railway could have réduced national income by sbout 10 per cent in 18’65.E/

The second point of nete is that in the years immediately before
1914 the rate of g-gaé&et-iwiﬁy growth fell markedly below what the economy
had aehie,ve&i regularly before and what emeft_itoz e=eqnemieas achieved. In
: arguing ;hg_tl the economy was doing as well as it ceuld this feature was
glossed o,vef by MeCloskey, although there is mo reaﬁon to suppose that it

was inevitable.

It is easy to show that the decline in productivity growth had

Suppose the economy had mairntained a productivity

growth ra&e oﬁ 0.8 per cent per year from 187‘2—]:911, well belew American

16/
or Gernman rates, ~ about equal to the rate achi eved between 1830 and



17/ ‘ .
1860 and only a small increase over the average calculated as achieved

for 1872 to 1911 of 0.6 per cent. Then using eqn.(4) the steady state
rate of growth turns out to be 2.28 per cent.” Had this been achieved, by
1911 output would hae been 24 per cent higher. A domestic net investment

rate of 7.27 per cent would have been required.

The argument of this section has been thaq,)éqﬁtrgry to‘McCIOSkey's
interpretation, the neoc1aasica1 model can be used to argue that to an
important extent the latg Victorian economy did fail. The ﬁai}ute,tq match
the - inestment rate and productivity growth rate of the earlier Victoriams,
or of competitor economies, had by World War!Lseriqusly,zﬁyefsE~COHQGQuences

on the lerel of domestic output.
I1

The second part of McCloskey's argument that raising the home
investment rate was not a way to significantly_imprpvg the performance of
the late Victorian economy was to argue that gains from reallocating capital
from abroad to home could not have raised output much. This view was
challenged, albeit rather inconclusively, by Kennedy who pointed out its

- 18/
sensitivity to certain crucial and, perhaps unlikely, assumptions.

A different approach is adopted here, although withpug.stepping
outside the confines_&f the neoclassical single sector growth model. In
this model whilst the steady state rate of growth is invariant with respect
to the investment rate the capifal intensity of activity is not. This last

is in turn vital to the possible level of consumption per head. An



important question is therefore 'By undertaking lower domestic investment

rates than other economies did Britain suffer reduced consumption levels?®

The basic point is easy to grasp. In the neoclassical model output
per head is an anxeasihg funection ef capital per ﬁead'but on the other hand
maintaining higher capital per héAd requires a higher savings rate. The
problem is ‘to cheose that capital to labour ratio which can be sustained
and which maximises consumption per head, or, as the economic growth
literature puts it, to find the Geldem Ruyle. This problem.was, of course,
solved by Phelps. For the type of model with which we are concerned the
Golden Rule can be stated as requiring the net marginal product of capital
ta,E@ equal te the naturél‘gate of growth, which is the stéad}*state rate
of grﬂﬂﬁhcigj If the net marginal product of capital exceeds the natural
rate of growth, the presumption is that a higher investment rate and a
resultant higher capital to labour ratia will raise consumption per head in

the long rum.

1f ve grant McCloskey's assumptions of a competitive ecomomy with
a Cobb-Douglas production fumctiom it is easy to imvestigate whether the
Goldem Rule was met. The natural rate of growth can be thought of as
2.28 per ce#ﬁ, the wvalye ehtéined at thé"endzof section 1. The gross
marginal product of capital for the Gobb—Douglas case is a¥/K (where
Y is gross output) or, using the notation of Table 1, is a/u'. From
Table 1 for the 1870's this turms out to be 0&4/3.02 = 13.2 per cent. Net
marginal ﬁ:oduct of capital is simply gress mamgin#l product minus the rate
of depreciation of the capital stock. From Feinstein's figures this could
not have been more than 2 per egntmégj So met marginal product of capital

was cver 11 per cent and hence vasﬁly exceeded the natural rate of growth.



There was therefore apparently plenty of Scopelfor=late dineteenth
century Britain to raise consumption per head byuinveSting more at home.
Of course, virtuéliy'no economy ever approaches the Golden Rule because
there is a time preference for consumption. However, to illustrate the
scope fpr fhe British Economy to.raise its consumption standards, (even
without attaining tﬁe»Golden Rule), according to.McCIOBkeyfs neoclassical

model, it is easy to give a small example..

Suppose Britain had done no foreign investment but had instéad
achieved the following annual growtﬁ rates of domestic éapital; 1872-1882 :
3.75 per cent; 1882-1892 : 3.40 per cent; 1892-1902 : 3.12 per cent;
1902~1911 : 3.07 per ?ent. This would have been possible given the
initial capital to output ratio by domestic net investment rates of between
12 and ¥% per cent, similar to those achieved by Germany and the United
States.Zl/ These rates can then be used in comjunction with eqn.(2) and
the data of Table 1 to find consumption in 1911. It turns'outvthat with no
net property income from abroad and with government Spendiﬁg at the actual
1911'rate, this would have permitted consumption expenditure of £2157m.
(1900 factor cost) compared with-ﬁl?l&m. actual, a rise of‘26 per cent.

Had the economy also maintained its productivity growth rate at 0.8 per cent'
throughout, them the hypothetical consumption figure becomes £2356m., a

22/
rise of 37 per cent.

These figures are only illustrative. They do not, of course,
represent a maximum figure for 1911 for two reasons. Firstly, the investment
rate is not sufficient to meet the Golden Rule. Secondly, in the example

the economy was arbitrarily denied any foreign investment.



111

- Used inthis way the message of the neéclassical model seems
clear. For whatever reason, the British economy of the late nineteenth
century missed opportunities to raise its consumption per head. The
conclusion is similar to Kennedy's but comes stréight from McC}oskéy's

own model : Victorian Britain did fail!
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